Entry Quiz - Loan Finance  

Question 1

You are treasurer of a small oil company.  For which of the situations below would you be most likely to seek debt finance rather than equity or project finance?

(a) Offshore exploration in a virgin sector

(b) Offshore exploration in an area of known deposits

(c) Development of a proven deposit

(d) A marketing campaign

(e) Don’t know.
Answer 

The right answer is  (c) Development of a proven deposit.

This is the lowest risk of the alternatives and therefore the most appropriate for debt, as opposed to equity finance.
Manual VI Ch 8, Manual VIII Ch 2

Question 2

From the perspective of the lender, which of the following reasons for borrowing would you find most compelling when considering lending to a food retailing company?

(a) Working capital

(b) Last year’s tax payment

(c) New premises

(d) An advertising campaign

(e) Don’t know.
Answer 

The right answer is  (c) New premises.

Answer (a) is not a good reason for borrowing for a food retailer; his working capital should be negative.

Answer (b) might indicate rather poor financial planning.

Answer (d) would be an inappropriate use of debt, being relatively high risk.
Manual VI Ch 1, 8, Manual VIII Ch 2

Question 3

You are treasurer of a large company with a triple A rating.  Which of the following is likely to be cheaper for a 7-year debt facility?

(a) Syndicated loan

(b) Floating rate note

(c) Commercial paper

(d) Term bank loan

(e) Don’t know.

Answer

The right answer is  (b) Floating rate note.

This is a capital market instrument, which is relatively cheap to issue.  It therefore does not attract the costs associated with bank finance.

Answer  (a) and (d) involve banks and their costs.

Answer (c) refers to short term finance, up to 1 year.

Manual VI Ch 8

Question 4

Your company is embarking on a project, which is large relative to the size of your company.  The project also involves a significant amount of risk.  Which of the following would be most appropriate for raising the debt component of the necessary finance?

(a) Limited recourse, secured on project’s assets and cashflow

(b) Limited recourse, secured on all corporate assets

(c) Limited recourse, secured on all corporate cashflows

(d) Full recourse to corporate resources

(e) Don’t know.
Answer

The right answer is  (a) Limited recourse, secured on project’s assets and cashflows.

The whole point of limited recourse is to protect the company from the risk of being brought down by the project.  Answers (b), (c) and (d) all allow access to the remaining corporate assets or cashflows and therefore do not satisfy the underlying reason for limited recourse.

Manual VII Ch 8

Question 5

Your company has arranged a bank loan with its relationship bank, XYZ Bank.  Which of the following could not be arranged without your knowledge?

(a) Assignment

(b) Novation

(c) Sub-participation

(d) Sub-transference

(e) Don’t know.

Answer 

The right answer is  (b) Novation.

Novation involves creating a new contract; therefore all parties must be aware that the old project has been superseded.  Answers (a) and (c) can both take place without the borrower’s knowledge.

Manual VI Ch 11

Question 6

Which of the following would represent the most risky form of guarantee for a company involved as one of the sponsors of a project financing?

(a)
an upstream guarantee

(b)
a joint guarantee

(c)
a joint and several guarantee

(d)
a several guarantee

(e)
don’t know

Answer

The right answer is (c) a joint and several guarantee.

Answer (a), an upstream guarantee, is normally for the opposite of this situation, where a subsidiary has guaranteed the borrowing of a parent.  Answer (d), a several guarantee, normally restricts the obligation to a specific proportion of the whole.  The joint and several guarantee allows the lender to reclaim the whole debt from the strongest guarantor.

Manual VI Ch 11

Question 7

From the borrower’s perspective, what is the justification for requesting the inclusion of a ‘change of control clause’?

(a)
it is a reasonable defence mechanism against hostile bids

(b)
it contributes to shareholder value

(c)
it encourages hostile bids which add to shareholder value

(d)
there is no reasonable justification

(e)
don’t know

Answer

The right answer is (d) there is no reasonable justification.

This clause creates an event of default if the company is acquired.  An acquiror would therefore have to refinance the company’s borrowings.  From the borrower’s point of view the only reason for the inclusion of this clause is to make hostile bids more difficult and thereby discourage bidders.  For an underperforming company a hostile bid is the only real threat to the existing management – almost the justification of capitalism in terms of economic activity.  Anything that discourages a bid is therefore against the interests of the shareholders and destroys potential shareholder value.

From the lender’s perspective there may be justification for the clause in seeking to protect credit quality.

Manual VI Ch 11 and Manual VIII Ch 4

Question 8

You are treasurer of an international group.  It has been suggested by your bankers that if you arranged group debt as direct loans to the operating companies rather than the centre as borrower, then the added security for the bank would mean an extra saving in credit spread.

If the centre’s borrowing were replaced by a series of separate loans to operating companies, which of the following would represent the most important risk?

(a)
whitewash regulations

(b)
the cross default clause

(c)
asset disposal restrictions

(d)
applicable jurisdiction

(e)
don’t know

Answer

The right answer is (b) the cross default clause.

If each loan has a cross default clause, which seems very likely, then a problem in any operating subsidiary could cause an event of default for the whole group’s borrowings.  Depending on the state of control within the group, the treasurer might feel that the possibility of this happening was not something he could dismiss.

Whitewash regulations are regulations to allow a private company to warrant that it is solvent before arranging borrowing on behalf of a bidder.  This may sound odd, but they are widely used in arranging LBOs, to ensure that the ultimate borrower after a successful bid is the operating company, which has the assets and cash flows, rather than the holding company as borrower.  Neither asset disposal restrictions nor applicable jurisdiction would be likely to cause the same degree of concern, in this case, as cross default. 

Manual VI Ch 11, Manual VIII Ch 4

Question 9

As a lender to a highly cyclical business, you are concerned about the borrower’s dividend policy.  In good times a high payout is fine, but in bad times you are concerned that long-term competitiveness may be adversely affected by too high a payout.

Which of the following combinations would you attempt to negotiate?

(a)
dividend limitation and minimum net worth covenants

(b)
dividend limitation and gearing covenants

(c)
dividend limitation and minimum capital expenditure covenants

(d)
dividend limitation and material adverse change covenants

(e)
don’t know

Answer

The right answer is (a) dividend limitation and minimum net worth covenants.

The dividend limitation covenant clearly allows your bank to agree a maximum level for dividends and gives the opportunity to approve, or otherwise, payments over that level.  The minimum net worth covenant prevents the company from continuing to pay the maximum level whether or not the company can afford it.  If dividends are uncovered then the net worth must fall.

Answer (b) is a more complicated and less satisfactory way of capturing the limitations in answer (a).  Answer (c) may be appropriate, but would be very difficult to imagine in practice.  Which elements of the business should the minimum expenditure apply to?

Manual VI Ch 11

Question 10   
You are treasurer of a cyclical heavy engineering business.  Your programme of investment in major manufacturing plant requires significant new borrowing.

Which of the following financing choices would you select?


(a)
extend creditors from 45 to 75 days


(b)
term debt (7 years) at 5.6% fixed 


(c)
overdraft, currently at 5.1%


(d)
commercial paper at 5.05% fixed


(e)
don’t know

Answer

The right answer is (b) term debt (7 years) at 5.6% fixed

A long term investment could easily be prejudiced by inappropriate funding; a term investment should be funded by term finance.

Answer (a) could be appropriate for a company which finds raising finance difficult – but even then, only for a short period and ideally with the knowledge and consent of the suppliers(!). The attraction of low cost must be balanced against suppliers being unwilling to supply on the same terms, if at all.

Answer (c) is of unknown cost as time passes.  The rate changes on a daily basis – as well as the facility being “repayable on demand”.

Answer (d) has been tried before, but not by many companies still trading!  Funds dry up rapidly if there is any hint of trouble.

Manual VII Ch 2
